
Soustraction (A)

Calculez la différence.

199 − 11 =

318 − 32 =

176 − 45 =

943 − 41 =

MathsLibres.com



Soustraction Solutions (A)

Calculez la différence.

199 − 11 =
188

318 − 32 =
286

176 − 45 =
131

943 − 41 =
902
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Soustraction (B)

Calculez la différence.

378 − 81 =

672 − 32 =

358 − 76 =

443 − 24 =
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Soustraction Solutions (B)

Calculez la différence.

378 − 81 =
297

672 − 32 =
640

358 − 76 =
282

443 − 24 =
419
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Soustraction (C)

Calculez la différence.

142 − 79 =

262 − 56 =

691 − 55 =

239 − 40 =
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Soustraction Solutions (C)

Calculez la différence.

142− 79 = 63

262 − 56 =
206

691 − 55 =
636

239 − 40 =
199
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Soustraction (D)

Calculez la différence.

607 − 52 =

459 − 44 =

119 − 24 =

322 − 57 =
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Soustraction Solutions (D)

Calculez la différence.

607 − 52 =
555

459 − 44 =
415

119− 24 = 95

322 − 57 =
265
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Soustraction (E)

Calculez la différence.

482 − 17 =

820 − 48 =

619 − 50 =

668 − 96 =
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Soustraction Solutions (E)

Calculez la différence.

482 − 17 =
465

820 − 48 =
772

619 − 50 =
569

668 − 96 =
572
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Soustraction (F)

Calculez la différence.

210 − 66 =

574 − 42 =

654 − 48 =

897 − 88 =
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Soustraction Solutions (F)

Calculez la différence.

210 − 66 =
144

574 − 42 =
532

654 − 48 =
606

897 − 88 =
809
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Soustraction (G)

Calculez la différence.

453 − 17 =

507 − 35 =

473 − 36 =

979 − 20 =
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Soustraction Solutions (G)

Calculez la différence.

453 − 17 =
436

507 − 35 =
472

473 − 36 =
437

979 − 20 =
959
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Soustraction (H)

Calculez la différence.

418 − 35 =

768 − 97 =

809 − 91 =

804 − 78 =
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Soustraction Solutions (H)

Calculez la différence.

418 − 35 =
383

768 − 97 =
671

809 − 91 =
718

804 − 78 =
726
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Soustraction (I)

Calculez la différence.

324 − 29 =

111 − 96 =

616 − 54 =

194 − 84 =
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Soustraction Solutions (I)

Calculez la différence.

324 − 29 =
295

111− 96 = 15

616 − 54 =
562

194 − 84 =
110
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Soustraction (J)

Calculez la différence.

230 − 16 =

625 − 57 =

380 − 27 =

936 − 55 =
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Soustraction Solutions (J)

Calculez la différence.

230 − 16 =
214

625 − 57 =
568

380 − 27 =
353

936 − 55 =
881
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